
Oddělení A 

Př. 1: Vypočítej hmotnost kvádru s rozměry 

 𝑎 = 2,7 𝑑𝑚; 𝑏 = 36 𝑐𝑚; 𝑐 = 0,45𝑚. Kvádr je vyroben 

ze zlata (𝜌 = 19,3𝑔/𝑐𝑚3). 

Př. 2: Vypočítej povrch kvádru z př. 1.  

 

Oddělení A 

Př. 1: Vypočítej hmotnost kvádru s rozměry 

 𝑎 = 2,7 𝑑𝑚; 𝑏 = 36 𝑐𝑚; 𝑐 = 0,45𝑚. Kvádr je vyroben 

ze zlata (𝜌 = 19,3𝑔/𝑐𝑚3). 

Př. 2: Vypočítej povrch kvádru z př. 1.  

 

Oddělení A 

Př. 1: Vypočítej hmotnost kvádru s rozměry 

 𝑎 = 2,7 𝑑𝑚; 𝑏 = 36 𝑐𝑚; 𝑐 = 0,45𝑚. Kvádr je vyroben 

ze zlata (𝜌 = 19,3𝑔/𝑐𝑚3). 

Př. 2: Vypočítej povrch kvádru z př. 1.  

 

Oddělení A 

Př. 1: Vypočítej hmotnost kvádru s rozměry 

 𝑎 = 2,7 𝑑𝑚; 𝑏 = 36 𝑐𝑚; 𝑐 = 0,45𝑚. Kvádr je vyroben 

ze zlata (𝜌 = 19,3𝑔/𝑐𝑚3). 

Př. 2: Vypočítej povrch kvádru z př. 1.  

 

Oddělení A 

Př. 1: Vypočítej hmotnost kvádru s rozměry 

 𝑎 = 2,7 𝑑𝑚; 𝑏 = 36 𝑐𝑚; 𝑐 = 0,45𝑚. Kvádr je vyroben 

ze zlata (𝜌 = 19,3𝑔/𝑐𝑚3). 

Př. 2: Vypočítej povrch kvádru z př. 1.  

 

Oddělení A 

Př. 1: Vypočítej hmotnost kvádru s rozměry 

 𝑎 = 2,7 𝑑𝑚; 𝑏 = 36 𝑐𝑚; 𝑐 = 0,45𝑚. Kvádr je vyroben 

ze zlata (𝜌 = 19,3𝑔/𝑐𝑚3). 

Př. 2: Vypočítej povrch kvádru z př. 1.  

 

Oddělení A 

Př. 1: Vypočítej hmotnost kvádru s rozměry 

 𝑎 = 2,7 𝑑𝑚; 𝑏 = 36 𝑐𝑚; 𝑐 = 0,45𝑚. Kvádr je vyroben 

ze zlata (𝜌 = 19,3𝑔/𝑐𝑚3). 

Př. 2: Vypočítej povrch kvádru z př. 1.  

 

Oddělení B 

Př. 1: Vypočítej hmotnost kvádru s rozměry 
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